

27691 X-A003(590)

PROJECT: CLAREMONT

STATE PROJECT NUMBER: 27691

FED. PROJECT NUMBER: X-A003(590)

DATE BIDS OPEN:

August 03, 2023, 2:00

SCOPE OF WORK:

NH 12A, bridge rehabilitation carrying NH 12A over Sugar River, Br No 072/127

COMPLETION DATE:

September 19, 2025

LOCATION:

Sullivan, District 2

Awarded To: EVROKS CORPORATION

23 INDUSTRIAL DRIVE

NORTHFIELD, NH 03276

Amount: Award Date: \$5,790,172.60

Certified by: WILLIAM.J.OLDENBURG

Director of Project Development

Summary of Bidders

ContractorBid AmountRankEVROKS CORPORATION\$5,790,172.60A23 INDUSTRIAL DRIVE, NORTHFIELD NH 03276



27691 X-A003(590)

| | | | | F | PS&E | 23 INDUS | ORPORATION TRIAL DRIVE ILD, NH 03276 | | |
|----------|-------------|------|----------|------------|-------|------------|--|------------|-------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |

Items

| 201.881 | INVASIVE SPECIES CONTROL TYPE I | SY | 420.00 | \$127.00 | \$53,340.00 | \$8.50 | \$3,570.00 | |
|-----------|--|-----|----------|--------------|--------------|--------------|--------------|--|
| 203.11 | COMMON EXCAVATION - LRS | CY | 64.00 | \$12.50 | \$800.00 | \$24.00 | \$1,536.00 | |
| 207.3 | UNCLASSIFIED CHANNEL EXCAVATION | CY | 175.00 | \$42.00 | \$7,350.00 | \$38.00 | \$6,650.00 | |
| 209.201 | GRANULAR BACKFILL (BRIDGE) (F) | CY | 38.00 | \$52.00 | \$1,976.00 | \$100.00 | \$3,800.00 | |
| 403.11943 | HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH | TON | 500.00 | \$150.00 | \$75,000.00 | \$175.00 | \$87,500.00 | |
| 403.16 | PAVEMENT JOINT ADHESIVE | LF | 1,030.00 | \$2.30 | \$2,369.00 | \$3.00 | \$3,090.00 | |
| 403.21053 | HBP-3/8" MIX, MACHINE METHOD (BRIDGE BASE) | TON | 50.00 | \$220.00 | \$11,000.00 | \$325.00 | \$16,250.00 | |
| 403.26 | PAVEMENT JOINT ADHESIVE (BRIDGE BASE) | LF | 892.00 | \$1.50 | \$1,338.00 | \$1.00 | \$892.00 | |
| 403.29 | HBP-TEMPORARY (BRIDGE) | TON | 25.00 | \$150.00 | \$3,750.00 | \$500.00 | \$12,500.00 | |
| 410.22 | ASPHALT EMULSION FOR TACK COAT | GAL | 820.00 | \$10.00 | \$8,200.00 | \$6.50 | \$5,330.00 | |
| 417. | COLD PLANING BITUMINOUS SURFACES | SY | 5,900.00 | \$2.00 | \$11,800.00 | \$4.00 | \$23,600.00 | |
| 500.02 | ACCESS FOR BRIDGE CONSTRUCTION | U | 1.00 | \$100,000.00 | \$100,000.00 | \$165,000.00 | \$165,000.00 | |
| 502. | REMOVAL OF EXISTING BRIDGE STRUCTURE | U | 1.00 | \$710,000.00 | \$710,000.00 | \$655,000.00 | \$655,000.00 | |
| 503.101 | WATER DIVERSION STRUCTURE | U | 1.00 | \$25,000.00 | \$25,000.00 | \$5,000.00 | \$5,000.00 | |
| 503.201 | COFFERDAMS | U | 1.00 | \$30,000.00 | \$30,000.00 | \$85,000.00 | \$85,000.00 | |
| 504.1 | COMMON BRIDGE EXCAVATION (F) | CY | 15.00 | \$75.00 | \$1,125.00 | \$100.00 | \$1,500.00 | |
| 512.02 | PREPARATION FOR CONCRETE REPAIRS, CLASS II | SY | 25.00 | \$300.00 | \$7,500.00 | \$850.00 | \$21,250.00 | |
| 520.02012 | CONCRETE CLASS AA, ABOVE FOOTINGS (ABUT/WALL/PIER REPAIR) | CY | 31.00 | \$2,150.00 | \$66,650.00 | \$3,800.00 | \$117,800.00 | |
| 520.7002 | CONCRETE BRIDGE DECK (QC/QA) (F) | CY | 230.00 | \$1,100.00 | \$253,000.00 | \$1,834.00 | \$421,820.00 | |
| 526.2 | EPOXY FOR NON-MOVING CRACKS | LF | 100.00 | \$150.00 | \$15,000.00 | \$266.00 | \$26,600.00 | |
| 528.51 | PRESTRESSED CONCRETE DECK PANELS (F) | SF | 5,042.00 | \$27.00 | \$136,134.00 | \$27.30 | \$137,646.60 | |
| 534.3 | WATER REPELLENT (SILANE/SILOXANE) | GAL | 26.00 | \$100.00 | \$2,600.00 | \$150.00 | \$3,900.00 | |
| 538.2 | BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F) | SY | 15.00 | \$50.00 | \$750.00 | \$90.00 | \$1,350.00 | |
| 538.6 | BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F) | SY | 960.00 | \$25.00 | \$24,000.00 | \$60.00 | \$57,600.00 | |

Tuesday, August 8, 2023



27691 X-A003(590)

| | | | | ' | PS&E | 23 INDUS | CORPORATION STRIAL DRIVE ELD, NH 03276 | | |
|-----------|--|------|------------|-------------|--------------|--------------|--|------------|-------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 541.5 | PVC WATERSTOPS, NH TYPE 5 (F) | LF | 40.00 | \$15.00 | \$600.00 | \$15.00 | \$600.00 | | |
| 544.2 | REINFORCING STEEL, EPOXY COATED (F) | LB | 102,570.00 | \$1.75 | \$179,497.50 | \$2.00 | \$205,140.00 | | |
| 544.21 | REINFORCING STEEL, EPOXY COATED, MECHANICAL CONNECTORS (F) | LB | 4,043.00 | \$5.00 | \$20,215.00 | \$6.00 | \$24,258.00 | | |
| 547. | SHEAR CONNECTORS (F) | EA | 6,620.00 | \$7.50 | \$49,650.00 | \$8.55 | \$56,601.00 | | |
| 548.21 | ELASTOMERIC BEARING ASSEMBLIES (F) | EA | 20.00 | \$3,900.00 | \$78,000.00 | \$2,000.00 | \$40,000.00 | | |
| 550.1 | STRUCTURAL STEEL (F) | LB | 387,830.00 | \$1.90 | \$736,877.00 | \$5.20 | \$2,016,716.00 | | |
| 561.1001 | PREFABRICATED STRIP SEAL EXPANSION JOINT (F) | LF | 35.00 | \$836.00 | \$29,260.00 | \$1,000.00 | \$35,000.00 | | |
| 561.1002 | PREFABRICATED STRIP SEAL EXPANSION JOINT (F) | LF | 35.00 | \$836.00 | \$29,260.00 | \$1,000.00 | \$35,000.00 | | |
| 562.1 | SILICONE JOINT SEALANT (F) | LF | 62.00 | \$30.00 | \$1,860.00 | \$30.00 | \$1,860.00 | | |
| 563.23 | BRIDGE RAIL T3 | LF | 564.00 | \$200.00 | \$112,800.00 | \$325.00 | \$183,300.00 | | |
| 565.232 | BRIDGE APPROACH RAIL T3 (STEEL POSTS) | U | 4.00 | \$10,000.00 | \$40,000.00 | \$11,100.00 | \$44,400.00 | | |
| 583.3 | RIPRAP, CLASS III | CY | 137.00 | \$75.00 | \$10,275.00 | \$125.00 | \$17,125.00 | | |
| 593.411 | GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN | SY | 126.00 | \$10.00 | \$1,260.00 | \$4.00 | \$504.00 | | |
| 604.4 | RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET | LF | 3.00 | \$700.00 | \$2,100.00 | \$850.00 | \$2,550.00 | | |
| 604.72 | GRATES & FRAMES, TYPE B | EA | 3.00 | \$800.00 | \$2,400.00 | \$1,000.00 | \$3,000.00 | | |
| 606.417 | PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL | LF | 300.00 | \$35.38 | \$10,614.00 | \$10.00 | \$3,000.00 | | |
| 606.41741 | PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE | LF | 276.00 | \$66.00 | \$18,216.00 | \$122.00 | \$33,672.00 | | |
| 606.4175 | PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - ANCHORED | LF | 276.00 | \$50.00 | \$13,800.00 | \$122.00 | \$33,672.00 | | |
| 606.91 | RESETTING OR SETTING GUARDRAIL | LF | 150.00 | \$20.00 | \$3,000.00 | \$50.00 | \$7,500.00 | | |
| 609.01 | STRAIGHT GRANITE CURB | LF | 130.00 | \$60.00 | \$7,800.00 | \$73.00 | \$9,490.00 | | |
| 616.171 | PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM | U | 1.00 | \$42,000.00 | \$42,000.00 | \$64,500.00 | \$64,500.00 | | |
| 616.191 | ALTERATIONS TO TRAFFIC SIGNALS | U | 1.00 | \$20,000.00 | \$20,000.00 | \$38,000.00 | \$38,000.00 | | |
| 618.61 | UNIFORMED OFFICERS WITH VEHICLE | \$ | 35,000.00 | \$1.00 | \$35,000.00 | \$1.00 | \$35,000.00 | | |
| 618.7 | FLAGGERS | HR | 600.00 | \$30.88 | \$18,528.00 | \$64.00 | \$38,400.00 | | |
| 619.1 | MAINTENANCE OF TRAFFIC | U | 1.00 | \$94,000.00 | \$94,000.00 | \$130,000.00 | \$130,000.00 | | |
| 619.25 | PORTABLE CHANGEABLE MESSAGE SIGN | U | 4.00 | \$6,000.00 | \$24,000.00 | \$6,000.00 | \$24,000.00 | | |



27691 X-A003(590)

| | | | | | PS&E | 23 INDUS | CORPORATION STRIAL DRIVE ELD, NH 03276 | | |
|----------|--|------|-----------|--------------|----------------|--------------|--|------------|-------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 628.2 | SAWED BITUMINOUS PAVEMENT | LF | 302.00 | \$3.30 | \$996.60 | \$5.00 | \$1,510.00 | | |
| 632.0104 | RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE | LF | 2,500.00 | \$0.64 | \$1,600.00 | \$2.50 | \$6,250.00 | | |
| 632.3104 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE | LF | 4,200.00 | \$2.00 | \$8,400.00 | \$2.50 | \$10,500.00 | | |
| 632.3118 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE | LF | 200.00 | \$11.00 | \$2,200.00 | \$4.00 | \$800.00 | | |
| 632.911 | OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER | LF | 2,600.00 | \$2.00 | \$5,200.00 | \$2.50 | \$6,500.00 | | |
| 645.0001 | TURBIDITY BARRIER | LF | 1,200.00 | \$15.00 | \$18,000.00 | \$15.00 | \$18,000.00 | | |
| 645.119 | MULCH WITH TACKIFIERS | A | 1.00 | \$1,200.00 | \$1,200.00 | \$3,000.00 | \$3,000.00 | | |
| 645.512 | COMPOST SOCK FOR PERIMETER BERM | LF | 1,200.00 | \$5.10 | \$6,120.00 | \$7.00 | \$8,400.00 | | |
| 645.531 | SILT FENCE | LF | 1,200.00 | \$2.75 | \$3,300.00 | \$3.00 | \$3,600.00 | | |
| 645.611 | BONDED FIBER MATRIX (BFM) | LB | 280.00 | \$1.70 | \$476.00 | \$3.00 | \$840.00 | | |
| 645.72 | FINAL WETLAND IMPACT REPORT | U | 1.00 | \$3,000.00 | \$3,000.00 | \$1,500.00 | \$1,500.00 | | |
| 645.73 | FINAL STREAM DIVERSION AND EROSION CONTROL PLAN | U | 1.00 | \$3,270.63 | \$3,270.63 | \$3,000.00 | \$3,000.00 | | |
| 645.731 | MONITORING FSD&EC PLAN | HR | 240.00 | \$73.33 | \$17,599.20 | \$110.00 | \$26,400.00 | | |
| 646.21 | TURF ESTABLISHMENT WITHOUT MULCH | SY | 440.00 | \$3.00 | \$1,320.00 | \$5.00 | \$2,200.00 | | |
| 670.104 | TEMPORARY PORTABLE LIGHTING | U | 1.00 | \$2,312.50 | \$2,312.50 | \$7,700.00 | \$7,700.00 | | |
| 692. | MOBILIZATION | U | 1.00 | \$262,874.57 | \$262,874.57 | \$497,000.00 | \$497,000.00 | | |
| 697.11 | INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN | U | 1.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | | |
| 697.31 | PROJECT OPERATIONS PLAN | U | 1.00 | \$3,500.00 | \$3,500.00 | \$1,800.00 | \$1,800.00 | | |
| 698.12 | FIELD OFFICE TYPE B | MON | 30.00 | \$2,500.00 | \$75,000.00 | \$2,350.00 | \$70,500.00 | | |
| 699. | MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL | \$ | 18,200.00 | \$1.00 | \$18,200.00 | \$1.00 | \$18,200.00 | | |
| 1002.1 | REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES | \$ | 25,000.00 | \$1.00 | \$25,000.00 | \$1.00 | \$25,000.00 | | |
| 1010.01 | STEEL COST ADJUSTMENT | \$ | 70,000.00 | \$1.00 | \$70,000.00 | \$1.00 | \$70,000.00 | | |
| 1010.15 | FUEL ADJUSTMENT | \$ | 40,000.00 | \$1.00 | \$40,000.00 | \$1.00 | \$40,000.00 | | |
| 1010.41 | QUALITY CONTROL QUALITY ASSURANCE (QC/QA) FOR CONCRETE | \$ | 19,000.00 | \$1.00 | \$19,000.00 | \$1.00 | \$19,000.00 | | |
| | Totals: | | | | \$3,719,264.00 | | \$5,790,172.60 | | |

New Hampshive Department of Transportation

ABC Bid Data

27691 X-A003(590)

| | | | | PS&E | | EVROKS CORPORATION 23 INDUSTRIAL DRIVE NORTHFIELD, NH 03276 | | | |
|----------|-------------|------|--------------|------------|----------------|---|----------------|------------|-------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| | | | Alt. Totals: | | | | | | |
| | | | Totals: | _ | \$3,719,264.00 | | \$5,790,172.60 | | |



PS&E Comparison

27691 X-A003(590)

| | | | _ | A-Bide | der | PS8 | ξE. | |
|-----------|---|------|----------|--------------|--------------|--------------|--------------|-------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| Items | | | | | | | | |
| 201.881 | INVASIVE SPECIES CONTROL TYPE I | SY | 420.00 | \$8.50 | \$3,570.00 | \$127.00 | \$53,340.00 | (\$49,770.00) |
| 203.11 | COMMON EXCAVATION - LRS | CY | 64.00 | \$24.00 | \$1,536.00 | \$12.50 | \$800.00 | \$736.00 |
| 207.3 | UNCLASSIFIED CHANNEL EXCAVATION | CY | 175.00 | \$38.00 | \$6,650.00 | \$42.00 | \$7,350.00 | (\$700.00) |
| 209.201 | GRANULAR BACKFILL (BRIDGE) (F) | CY | 38.00 | \$100.00 | \$3,800.00 | \$52.00 | \$1,976.00 | \$1,824.00 |
| 403.11943 | HBP-1/2" SURFACE MIX, MACHINE METHOD, HIGH STRENGTH | TON | 500.00 | \$175.00 | \$87,500.00 | \$150.00 | \$75,000.00 | \$12,500.00 |
| 403.16 | PAVEMENT JOINT ADHESIVE | LF | 1,030.00 | \$3.00 | \$3,090.00 | \$2.30 | \$2,369.00 | \$721.00 |
| 403.21053 | HBP-3/8" MIX, MACHINE METHOD (BRIDGE BASE) | TON | 50.00 | \$325.00 | \$16,250.00 | \$220.00 | \$11,000.00 | \$5,250.00 |
| 403.26 | PAVEMENT JOINT ADHESIVE (BRIDGE BASE) | LF | 892.00 | \$1.00 | \$892.00 | \$1.50 | \$1,338.00 | (\$446.00) |
| 403.29 | HBP-TEMPORARY (BRIDGE) | TON | 25.00 | \$500.00 | \$12,500.00 | \$150.00 | \$3,750.00 | \$8,750.00 |
| 410.22 | ASPHALT EMULSION FOR TACK COAT | GAL | 820.00 | \$6.50 | \$5,330.00 | \$10.00 | \$8,200.00 | (\$2,870.00) |
| 417. | COLD PLANING BITUMINOUS SURFACES | SY | 5,900.00 | \$4.00 | \$23,600.00 | \$2.00 | \$11,800.00 | \$11,800.00 |
| 500.02 | ACCESS FOR BRIDGE CONSTRUCTION | U | 1.00 | \$165,000.00 | \$165,000.00 | \$100,000.00 | \$100,000.00 | \$65,000.00 |
| 502. | REMOVAL OF EXISTING BRIDGE STRUCTURE | U | 1.00 | \$655,000.00 | \$655,000.00 | \$710,000.00 | \$710,000.00 | (\$55,000.00) |
| 503.101 | WATER DIVERSION STRUCTURE | U | 1.00 | \$5,000.00 | \$5,000.00 | \$25,000.00 | \$25,000.00 | (\$20,000.00) |

Tuesday, August 8, 2023 Page 6 of 10



PS&E Comparison

27691 X-A003(590)

| | | 1 | | A-Bid | der | PS8 | ξ Ε | |
|-----------|--|------|------------|-------------|----------------|-------------|--------------|-------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| 503.201 | COFFERDAMS | U | 1.00 | \$85,000.00 | \$85,000.00 | \$30,000.00 | \$30,000.00 | \$55,000.00 |
| 504.1 | COMMON BRIDGE EXCAVATION (F) | CY | 15.00 | \$100.00 | \$1,500.00 | \$75.00 | \$1,125.00 | \$375.00 |
| 512.02 | PREPARATION FOR CONCRETE REPAIRS, CLASS II | SY | 25.00 | \$850.00 | \$21,250.00 | \$300.00 | \$7,500.00 | \$13,750.00 |
| 520.02012 | CONCRETE CLASS AA, ABOVE FOOTINGS (ABUT/WALL/PIER REPAIR) | CY | 31.00 | \$3,800.00 | \$117,800.00 | \$2,150.00 | \$66,650.00 | \$51,150.00 |
| 520.7002 | CONCRETE BRIDGE DECK (QC/QA) (F) | CY | 230.00 | \$1,834.00 | \$421,820.00 | \$1,100.00 | \$253,000.00 | \$168,820.00 |
| 526.2 | EPOXY FOR NON-MOVING CRACKS | LF | 100.00 | \$266.00 | \$26,600.00 | \$150.00 | \$15,000.00 | \$11,600.00 |
| 528.51 | PRESTRESSED CONCRETE DECK PANELS (F) | SF | 5,042.00 | \$27.30 | \$137,646.60 | \$27.00 | \$136,134.00 | \$1,512.60 |
| 534.3 | WATER REPELLENT (SILANE/SILOXANE) | GAL | 26.00 | \$150.00 | \$3,900.00 | \$100.00 | \$2,600.00 | \$1,300.00 |
| 538.2 | BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F) | SY | 15.00 | \$90.00 | \$1,350.00 | \$50.00 | \$750.00 | \$600.00 |
| 538.6 | BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F) | SY | 960.00 | \$60.00 | \$57,600.00 | \$25.00 | \$24,000.00 | \$33,600.00 |
| 541.5 | PVC WATERSTOPS, NH TYPE 5 (F) | LF | 40.00 | \$15.00 | \$600.00 | \$15.00 | \$600.00 | \$0.00 |
| 544.2 | REINFORCING STEEL, EPOXY COATED (F) | LB | 102,570.00 | \$2.00 | \$205,140.00 | \$1.75 | \$179,497.50 | \$25,642.50 |
| 544.21 | REINFORCING STEEL, EPOXY COATED, MECHANICAL CONNECTORS (F) | LB | 4,043.00 | \$6.00 | \$24,258.00 | \$5.00 | \$20,215.00 | \$4,043.00 |
| 547. | SHEAR CONNECTORS (F) | EA | 6,620.00 | \$8.55 | \$56,601.00 | \$7.50 | \$49,650.00 | \$6,951.00 |
| 548.21 | ELASTOMERIC BEARING ASSEMBLIES (F) | EA | 20.00 | \$2,000.00 | \$40,000.00 | \$3,900.00 | \$78,000.00 | (\$38,000.00) |
| 550.1 | STRUCTURAL STEEL (F) | LB | 387,830.00 | \$5.20 | \$2,016,716.00 | \$1.90 | \$736,877.00 | \$1,279,839.00 |

Tuesday, August 8, 2023 Page 7 of 10



Department of Transportation

PS&E Comparison

27691 X-A003(590)

| | | | | A-Bide | der | PS8 | RE . | |
|-----------|--|------|----------|-------------|--------------|-------------|--------------|-------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| 561.1001 | PREFABRICATED STRIP SEAL EXPANSION JOINT (F) | LF | 35.00 | \$1,000.00 | \$35,000.00 | \$836.00 | \$29,260.00 | \$5,740.00 |
| 561.1002 | PREFABRICATED STRIP SEAL EXPANSION JOINT (F) | LF | 35.00 | \$1,000.00 | \$35,000.00 | \$836.00 | \$29,260.00 | \$5,740.00 |
| 562.1 | SILICONE JOINT SEALANT (F) | LF | 62.00 | \$30.00 | \$1,860.00 | \$30.00 | \$1,860.00 | \$0.00 |
| 563.23 | BRIDGE RAIL T3 | LF | 564.00 | \$325.00 | \$183,300.00 | \$200.00 | \$112,800.00 | \$70,500.00 |
| 565.232 | BRIDGE APPROACH RAIL T3 (STEEL POSTS) | U | 4.00 | \$11,100.00 | \$44,400.00 | \$10,000.00 | \$40,000.00 | \$4,400.00 |
| 583.3 | RIPRAP, CLASS III | CY | 137.00 | \$125.00 | \$17,125.00 | \$75.00 | \$10,275.00 | \$6,850.00 |
| 593.411 | GEOTEXTILE; PERM CONTROL CL.1, NON- WOVEN | SY | 126.00 | \$4.00 | \$504.00 | \$10.00 | \$1,260.00 | (\$756.00) |
| 604.4 | RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET | LF | 3.00 | \$850.00 | \$2,550.00 | \$700.00 | \$2,100.00 | \$450.00 |
| 604.72 | GRATES & FRAMES, TYPE B | EA | 3.00 | \$1,000.00 | \$3,000.00 | \$800.00 | \$2,400.00 | \$600.00 |
| 606.417 | PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL | LF | 300.00 | \$10.00 | \$3,000.00 | \$35.38 | \$10,614.00 | (\$7,614.00) |
| 606.41741 | PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE | LF | 276.00 | \$122.00 | \$33,672.00 | \$66.00 | \$18,216.00 | \$15,456.00 |
| 606.4175 | PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - ANCHORED | LF | 276.00 | \$122.00 | \$33,672.00 | \$50.00 | \$13,800.00 | \$19,872.00 |
| 606.91 | RESETTING OR SETTING GUARDRAIL | LF | 150.00 | \$50.00 | \$7,500.00 | \$20.00 | \$3,000.00 | \$4,500.00 |
| 609.01 | STRAIGHT GRANITE CURB | LF | 130.00 | \$73.00 | \$9,490.00 | \$60.00 | \$7,800.00 | \$1,690.00 |
| 616.171 | PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM | U | 1.00 | \$64,500.00 | \$64,500.00 | \$42,000.00 | \$42,000.00 | \$22,500.00 |
| 616.191 | ALTERATIONS TO TRAFFIC SIGNALS | U | 1.00 | \$38,000.00 | \$38,000.00 | \$20,000.00 | \$20,000.00 | \$18,000.00 |

Tuesday, August 8, 2023 Page 8 of 10



Department of Transportation

PS&E Comparison

27691 X-A003(590)

| | 1 | 1 | T | A-Bide | der | PS8 | RE . | |
|----------|---|------|-----------|--------------|--------------|-------------|-------------|-------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| 618.61 | UNIFORMED OFFICERS WITH VEHICLE | \$ | 35,000.00 | \$1.00 | \$35,000.00 | \$1.00 | \$35,000.00 | \$0.00 |
| 618.7 | FLAGGERS | HR | 600.00 | \$64.00 | \$38,400.00 | \$30.88 | \$18,528.00 | \$19,872.00 |
| 619.1 | MAINTENANCE OF TRAFFIC | U | 1.00 | \$130,000.00 | \$130,000.00 | \$94,000.00 | \$94,000.00 | \$36,000.00 |
| 619.25 | PORTABLE CHANGEABLE MESSAGE SIGN | U | 4.00 | \$6,000.00 | \$24,000.00 | \$6,000.00 | \$24,000.00 | \$0.00 |
| 628.2 | SAWED BITUMINOUS PAVEMENT | LF | 302.00 | \$5.00 | \$1,510.00 | \$3.30 | \$996.60 | \$513.40 |
| 632.0104 | RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE | LF | 2,500.00 | \$2.50 | \$6,250.00 | \$0.64 | \$1,600.00 | \$4,650.00 |
| 632.3104 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE | LF | 4,200.00 | \$2.50 | \$10,500.00 | \$2.00 | \$8,400.00 | \$2,100.00 |
| 632.3118 | RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE | LF | 200.00 | \$4.00 | \$800.00 | \$11.00 | \$2,200.00 | (\$1,400.00) |
| 632.911 | OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER | LF | 2,600.00 | \$2.50 | \$6,500.00 | \$2.00 | \$5,200.00 | \$1,300.00 |
| 645.0001 | TURBIDITY BARRIER | LF | 1,200.00 | \$15.00 | \$18,000.00 | \$15.00 | \$18,000.00 | \$0.00 |
| 645.119 | MULCH WITH TACKIFIERS | А | 1.00 | \$3,000.00 | \$3,000.00 | \$1,200.00 | \$1,200.00 | \$1,800.00 |
| 645.512 | COMPOST SOCK FOR PERIMETER BERM | LF | 1,200.00 | \$7.00 | \$8,400.00 | \$5.10 | \$6,120.00 | \$2,280.00 |
| 645.531 | SILT FENCE | LF | 1,200.00 | \$3.00 | \$3,600.00 | \$2.75 | \$3,300.00 | \$300.00 |
| 645.611 | BONDED FIBER MATRIX (BFM) | LB | 280.00 | \$3.00 | \$840.00 | \$1.70 | \$476.00 | \$364.00 |
| 645.72 | FINAL WETLAND IMPACT REPORT | U | 1.00 | \$1,500.00 | \$1,500.00 | \$3,000.00 | \$3,000.00 | (\$1,500.00) |
| 645.73 | FINAL STREAM DIVERSION AND EROSION CONTROL PLAN | U | 1.00 | \$3,000.00 | \$3,000.00 | \$3,270.63 | \$3,270.63 | (\$270.63) |

Tuesday, August 8, 2023 Page 9 of 10



PS&E Comparison

27691 X-A003(590)

| | | T | | A-Bidd | der | PS8 | RE . | |
|----------|--|------|-----------|--------------|--------------|--------------|--------------|-------------------|
| Item No. | Description | Unit | Quantity | Unit Price | Total | Unit Price | Total | A-PS&E Difference |
| 645.731 | MONITORING FSD&EC PLAN | HR | 240.00 | \$110.00 | \$26,400.00 | \$73.33 | \$17,599.20 | \$8,800.80 |
| 646.21 | TURF ESTABLISHMENT WITHOUT MULCH | SY | 440.00 | \$5.00 | \$2,200.00 | \$3.00 | \$1,320.00 | \$880.00 |
| 670.104 | TEMPORARY PORTABLE LIGHTING | U | 1.00 | \$7,700.00 | \$7,700.00 | \$2,312.50 | \$2,312.50 | \$5,387.50 |
| 692. | MOBILIZATION | U | 1.00 | \$497,000.00 | \$497,000.00 | \$262,874.57 | \$262,874.57 | \$234,125.43 |
| 697.11 | INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN | U | 1.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$1,000.00 | \$0.00 |
| 697.31 | PROJECT OPERATIONS PLAN | U | 1.00 | \$1,800.00 | \$1,800.00 | \$3,500.00 | \$3,500.00 | (\$1,700.00) |
| 698.12 | FIELD OFFICE TYPE B | MON | 30.00 | \$2,350.00 | \$70,500.00 | \$2,500.00 | \$75,000.00 | (\$4,500.00) |
| 699. | MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL | \$ | 18,200.00 | \$1.00 | \$18,200.00 | \$1.00 | \$18,200.00 | \$0.00 |
| 1002.1 | REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES | \$ | 25,000.00 | \$1.00 | \$25,000.00 | \$1.00 | \$25,000.00 | \$0.00 |
| 1010.01 | STEEL COST ADJUSTMENT | \$ | 70,000.00 | \$1.00 | \$70,000.00 | \$1.00 | \$70,000.00 | \$0.00 |
| 1010.15 | FUEL ADJUSTMENT | \$ | 40,000.00 | \$1.00 | \$40,000.00 | \$1.00 | \$40,000.00 | \$0.00 |
| 1010.41 | QUALITY CONTROL QUALITY ASSURANCE (QC/QA) FOR CONCRETE | \$ | 19,000.00 | \$1.00 | \$19,000.00 | \$1.00 | \$19,000.00 | \$0.00 |

Total: \$5,790,172.60 \$3,719,264.00 \$2,070,908.60

Tuesday, August 8, 2023 Page 10 of 10